March 05, 2013

Today, we are going to solve Rational Inequalities.

Follow these steps:
1) State the excluded values
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2) Solve the related equation (just like yesterday)
3) Use the values from #1 and #2 to divide the number line into regions. Test a value in

each region to see what works.

Ex1) 1 + 5a > 1
Za B%a 2

=

A gy G

L+ Qga Ma
2402

- )
Ex2) 1+ 2<2
3s 9s 3

L«’ & <~2o0v a>(9

®

@AJ'-O
Ok e

342 26
[=b o
AxS

-2 o
Tetoe3 (Twad | Testasl
1) L 461
‘_IK_‘)-L _l 711 ‘I-l*‘i.‘, >
- ~l,6 _1
bk L )
Sk | A | 25
Yes e 8.,
QD ——p

S
al aipor a.>t

T—

Test a<-l [Teta=3 |l a-
Loy c2| 2 21,2
34)1@4 3 3'.:5'{{; £3 "4“)

o S

k —
WP WV

(—

*:sq“ N
o N »
SOje~ »




March 05, 2013

Work Problem

Ex 3) Scott and Tony mow lawns. Tony does the job alone in 4.5 hours while Scott does the job
alone in 3.7 hours. How long does it take for them to mow the lawn if they work together to
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"Rate x Time = Distance”
Ex 4) Jaime swam fo%in a stream with a current of 1 mph. She leaves her dock and swims
upstream for 2 miles and then back to her dock. What is her swim speed in still water?

R'-.‘-_::; D e )= L;/c‘urrcﬂ'f

=%

ToAal Time

= Swim speed in 4 atfer

\

(rﬂz [‘__K;"lt_'i)l&f'eﬂ'l‘ + Tl;:( inﬂﬂ'(urcnrl- - TUMH:“’K

&*—' = - %
A1y 3 Wer )= 5
Ar-2n A~ 500

Y4y = Sr>-§

0=5 g

r= 120 5Yo0) | ey 2

&




